
ESTRUCTURA : GRUPO SUSPENSIÓN DELANTERA
 

GRUPO SUSPENSIÓN DELANTERA

  

 

Rating: Not Rated Yet 
Price: 
Variant price modifier: 

Base price with tax: 

Price with discount: 

Salesprice with discount: 

Sales price: 

Sales price without tax: 

Discount: 

Tax amount: 

Ask a question about this product  

 

Description Ref. Título Código
1 BARRAL D 75-52400

2 BARRAL D 75-52500

3 BARRAL 75-52411
4 TUBO DEL

PISTON
75-52444

5 ANILLO DE
POLVO

75-52439

6 75-52438

7 RETEN 75-52437
8 O-RING 75-52447
9 PIERNA

BARRAL
75-52531

                        1 / 2

https://www.cprrepuestos.com.ar/images/stories/virtuemart/product/grupo suspension delantera18.jpg


ESTRUCTURA : GRUPO SUSPENSIÓN DELANTERA
 

Ref. Título Código

10 PIERNA
BARRAL

DERECHA

75-52431

11 TORNILLO 75-52442
12 O-RING 75-52436
13 TUBO

INTERIOR
75-52434

14 RESORTE 75-52446
15 MANGA 75-52441
16 TUBO DE

PISTON
75-52433

17 RESORTE 75-52435
18 TORNILLO

M8X30

19 TORNILLO
M8X30

20 PORTA
PATENTE

75-53710

21 SOPORTE 75-53712
22 TORNILLO

M6X12

23 TORNILLO
M4X16

24

25 75-GB/T93

 

 

 

 

 

 

Powered by TCPDF (www.tcpdf.org)

                        2 / 2

http://www.tcpdf.org

